We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for materials for the repair and maintenance of various vehicles assigne to CEPWD as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to: BRIGHT GENERAL MERCHANDISE PHILGEPS Reg. No.: 2017-214602

OTV	UNIT OF		Reg. No. : 2017-214602	
QTY.	ISSUE	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
		DT #01		
1	рс	Clutch Booster Repair Kit	750.00	750.00
1	pc.	Side Mirror	850.00	850.00
		DT #02		
1	lot	Hydraulic Hose	7,500.00	7,500.00
		DT#04		
1	рс	Relay	380.00	380.00
10	pcs	Fuse	55.00	550.00
1	ft	Tube 6mm	80.00	80.00
1	рс	QNL 601	280.00	280.00
1	рс	PUC 6mm	160.00	160.00
1	рс	Air Compressor	53,200.00	53,200.00
1	рс	Radiator Fan	17,000.00	17,000.00
1	рс	Temperature Gauge	2,900.00	2,900.00
1	pcs	Shifter Cable	2,800.00	2,800.00
2	pcs	Ball Joint	6,800.00	13,600.00
3	pcs	Clutch Booster Repair Kit	250.00	750.00
4	Itrs	ATF, Syntetic	650.00	2,600.00
		DT#05		
1	lot	Tint	15,000.00	15,000.00
2	pcs	Flap x 20	600.00	1,200.00
8	pcs	Net Cover 2500	625.00	5,000.00
		Grader (Old)		
2	pcs	Tire 10.10 x 20, big spike with tube and flap	28,000.00	56,000.00
1	lot	Center posr repair, fabricate of pin, machining & threading	26,000.00	26,000.00
1	lot	Blade, adjuster repair,	9,000.00	9,000.00
1	lot	Oxy-acytelyne, cutting & welding	13,000.00	13,000.00
		Self Loading		
1	set	Clutch Booster Assembly	9,500.00	9,500.00
1	рс	Oil Cooler	36,000.00	36,000.00
2	pcs	Tires 245 x 20	28,000.00	56,000.00
2	sets	Clutch Repair Kit	1,500.00	3,000.00
1	set	Steel Epoxy, big	680.00	680.00
		SUB- TOTAL		333,780.00

IN WITNESS WHEREOF, we hereby affix our signatures this

in the City of Calapan.

Engr. MOSS L SIMBAHAN

Engineer II **BAC Member** DULCE AMOR E. LAO Planning Officer III

MANIEL S. ACEDILLO Atty dity Legal Officer BAC Member

DR. FEBY DAR C. MANGLICMOT

City Veterinarian BAC Vice - Chairperson Engr. BENJAMIN CEDERA

y Engin**¢**er

Engr. BENJAMIN L. ACEDERA Øit Enginee

End-User

Approved by:

MARILO

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for materials for the repair and maintenance of various vehicles assigne to CEPWD as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

BRIGHT GENERAL MERCHANDISE

PHILGEPS Reg. No.: 2017-214602

QTY.	UNIT OF	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
	ISSUE			
		Inova SKM-721		
1	lot	Check Aircon Freon	1,500.00	1,500.00
1	Itr	Oil	300.00	300.00
1	рс	Compressor, Original	18,000.00	18,000.00
1	рс	Drier	1,200.00	1,200.00
5	pcs	Silicon	500.00	2,500.00
1	lot	Flushing Condenser	3,000.00	3,000.00
1	lot	Labor: Replacement of compressor, drier,flushing condenser, freon & oil	4,000.00	4,000.00
1	рс	Cylinder head cover gasket D4D	1,500.00	1,500.00
		L300/PRIME MOVER		
2	lot	Temporary Plate	2,000.00	4,000.00
_		Prime Mover		
6	pcs	Bolt & nut 10 mm	550.00	3,300.00
1	set	Cylinder Head Gasket, Original	25,000.00	25,000.00
1	lot	Repair of radiator & overhaul	25,800.00	25,800.00
		L300		
		Repair of aircon:		
1	lot	Freon	1,200.00	1,200.00
1	lot	Oil	300.00	300.00
1	рс	Pressure Switch	2,800.00	2,800.00
1	рс	Relay	680.00	680.00
1	lot	Labor Replacement of Pressure switch & Relay Motorpool	1,500.00	1,500.00
50	mtrs	Nylon Rope 30mm	440.00	22,000.00
24	pcs	5/8 x 4 bolt & nut	75.00	1,800.00
24	pcs	Flat Washer 5/8 x 4	10.00	240.00
1	pc.	Jigsaw	3,800.00	3,800.00
1	pc.	Drill	4,500.00	4,500.00
1	pc.	Grinder	3,000.00	3,000.00
1	lot	Drill attachment	650.00	650.00
,		SUB- TOTAL		132,570.00

IN WITNESS WHEREOF, we hereby affix our signatures this__AUG

Engr. MOSS L.SIMBAH`AN

Engineer II **BAC** Member

DULCE AMOR E. LAO

Planning Officer III

BAC Member

FEBY DAR C. MANGLICMOT

City Veterinarian BAC Vice - Chairperson

Engr. BENJAMIN L. AGEDERA

ity Engineer

Engr. BENJAMIN L. ADEDERA

ty Enginee*j*

in the City of Calapan.

Atty, REY DANIEL S. ACEDILLO

City Legal Officer

SAC Member

Approved by:

F. MORILLO ity Mayor

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for materials for the repair and maintenance of various vehicles assigne to CEPWD as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

BRIGHT GENERAL MERCHANDISE

PHILGEPS Reg. No.: 2017-214602

QTY.	UNIT OF	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
2	pcs	Heavy Duty Tucker	1,600.00	3,200.00
10	boxes	Staple Wire	250.00	2,500.00
3	packs	Cable Tie , small	280.00	840.00
2	packs	Cable Tie , big	350.00	700.00
		Traviz		
1	lot	Labor: Gen. cleaning (pull down evaporator), vaccum leak test, recharging freon, oil, flushing all lines 4 hole), flushing condenser, replacement of compressor, expansion valve, drier, condenser, oring and other electrical wirings	3,000.00	3,000.00
1	lot	General cleaning (freon, oil)	5,500.00	5,500.00
1	рс	Compressor	16,000.00	16,000.00
1	рс	Expansion valve, right	1,800.00	1,800.00
1	рс	Drier	1,000.00	1,000.00
2	pcs	Condenser (front & rear)	6,800.00	13,600.00
1	рс	Evaporator with Housing	6,500.00	6,500.00
4	sets	Hose Assembly	2,900.00	11,600.00
10	pcs	Oring	50.00	500.00
1	рс	Half-union 3/8	120.00	120.00
4	pcs	Condenser Bracket	60.00	240.00
1	рс	T-union	550.00	550.00
1	рс	Aircon switch, sliding	1,500.00	1,500.00
1	lot	Flushing Condenser	4,000.00	4,000.00
		Barge	-	
20	pcs	Bolt & nut # 7/8 x 2 1/2	246.00	4,920.00
		Adventure		
1	рс	Alternator	16,000.00	16,000.00
		Loader		
1	рс	Oil Filter	6,000.00	6,000.00
1	рс	Hydraulic Filter	7,600.00	7,600.00
1	рс	Fuel Filter	600.00	600.00
		Grader (New)		
2	sets	Tire 11.00 x 20, flap, tube	40,000.00	80,000.00
		SUB- TOTAL		188,270.0

IN WITNESS WHEREOF, we hereby affix our signatures this

in the City of Calapan.

Engr. MOSS L. SIMBAHAN

Engineer II **BAC Member** DULCE AMOR E. LAO

Planning Officer III

BAC Member

BAC Chairperson

Legal Officer Member

NIEL S. ACEDILLO

FEBY DAR C. MANGLICMOT

City Veterinarian BAC Vice - Chairperson BENJAMIN LACEDERA City Engineer

BENJAMIN ACEDERA

City Fnair

End-User

Approved by:

MARILOUF, MORILLO City Mayor

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for materials for the repair and maintenance of various vehicles assigne to CEPWD as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

BRIGHT GENERAL MERCHANDISE

PHILGEPS Reg. No.: 2017-214602

QTY.	UNIT OF	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
3	sets	Temporary plate	2,000.00	6,000.00
		Backhoe New		
1	рс	Fuel Separator	3,000.00	3,000.0
2	pcs	Fuel Filter Element	1,000.00	2,000.0
		Water Master/Dredging Machine		
50	pcs	Bolt & nut with washers	524.00	26,200.0
		535 Komatsu		
2	sets	Cutting Edge with bolt & nut	23,310.00	46,620.0
1	lot	Labor	15,000.00	15,000.0
		SUB-TOTAL		98,820.0
				779,295.
		GRAND- TOTAL		753,440.

IN WITNESS WHEREOF, we hereby affix our signatures this

AUG 2024

in the City of Calapan

Engr. MOSS LISIMBAHAN

Engineer II

BAC Member

DULCE AMOR E. LAO

Planning Officer III

BAC Member

REY MANIEL S. ACEDILLO

(City Legal Officer AC Member

FEBY DAR C. MANGLICMOT

BAC Vice - Chairperson

City Veterinarian

Engr. BENJAMIN L. ACEDERA

y Enginder

Engr. BENJAMIN L. ACEDERA

ty Engineer

Approved by:

MARILOUF. MORILLO ity Mayor